o
[N

T F ] :
@© r .
= F 1 b
YOS 1 SEPRURPE § LR A R R TR
S » : .
VAL SRR IR : * s
0.05F------- doieons H: -----------
0:_ ______________ +11 AN b
_0.05:_ ....... L ) RS EER] = EEEPPEEPPRD
_0.1:_ .................. . ...........
=0.15F -t H - R
9_02: T | bl ||! Lol EEERTIT
g b S
o [ :
C AT
r 4 + #| T4

0
107 1

2 3
TPlpoT (PCA t%obeamliné[f)

F H 4
R S, + by
E + 4
S, O I 1 8 N
0.05fF-+---eeenieenee e H e
o H +14
o] P L LT e
r + 1T+
= 4 . 1
o . 4
—0.05f+wwrernneieenes FHEH e
- -y T
E =+ 4
_0.1:_ ................. Bt B X B B P EEEEEE
o 4|
F : 47
F v o bbbl b v
E........ Ji 2
= -
o +[:|F
L [
0.5F------- 11 N R X
E + 1 1
of HiEY 4 1|

=

o
iN

=

—=— DQM_original_step2_ttbar-phasel-newgeom
—e— DQM_pixelCPE_step2_ttbar-phasel-newgeom
—+— DQM_pixel CPEChi20R2_step2_ttbar-phasel-newgeom

4

F3

41|

fi

< > (Y
o p,/p, > (%)
O = N W N O

Ratio

i

B

: 2 3
TPlpg)T (PCA t%)obeamlin%)o

— 100

.......

........

g

T 1 i
U O )l
1 Ir
-4 .
b < | ¢+
- y -5 B

2 3
TPl[g)T (PCA f%)obeamlinép



	Contents
	Page 1


